Bihar Board Class 8 Maths Solutions Chapter 14 '{[UF-IETS'

Bihar Board Class 8 Maths T[UIH@ES Ex 14.1

U 1.

f3T U uel § 9rd (SUTMY) [0S J1d Biford-

(a) 9y, 27

(b) 5%, 25x

(c¢) 7ab, -14ab

(d) -16x2y2, -x2y?z?

(e) 17x, 102y

(f) 11xyz, 100z

(g) a®bc, ab?c, abc?

(h) 2x, 3y, 5z

(i) 20x%y?, 30y°z2, 40z>x>
G)2x(a+b)(b+c),x(a+Db)
IR

() 9y=3x3xy
27=3x3x3

T IHAMY TUAEUS = 3 x 3 = 9

(b) 5x =5 xx
25X =5 X 5 XX

14 UMRAUS = 5x

(c)7ab=7xaxb
-14ab=-2x7xaxb

T4 TOFREATS = 7ab

(d)-16x%y?=-2x2Xx2X2XXXXXY Xy
X2Y272 = X X X XY XY XZXZ

T4 TUFGUS = x2y2
(e)17x =17 xX

102y =6 x 17 Xy
14 TOFETS = 17

D 1xyz=11xX Xy X Z
100Z=2X2X5X5XZ

T4 TUFAUS = 7
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(ga®bc=axaxbxc
ab’c=axbxbxc
abc’=axbxcxc

ﬂﬁw:axbxc=abc

(h)ox=2xxx1
3y=3xyx1
5Z=5XZXx1

14 UHES = 1

(1) 20x2y2 =2 X2 X 5X XXX XY X
y yxy
OV2Z2 =2 X IXBEXVXVXZXZ

y yxy
4072X%2 =2 X 2X 2 X5 XZXZXX X X

T4 TOFRETS = 2 x 5 = 10

(D2x(@a+b)(b+c)=2xxx(a+b)x(b+c)
x(a+b)=xx(a+b)
14 TOFETS = x(a + b)

Uy 2.
3T TN ISIE01 & SMTYR TR W@l S8 &l HNE-

®H| WT | fwar w0 uEEvE prv e
(i) | 1252y Ix 4xy

(ity | 15ab K

(i) | =20xy —2xy

(iv) | 40x%y3 ... ; =20

(v) | =27abd =3ab

https://www.evidyartAi.in/



()| wE| wg |3 femr mn TUrrEvE (Y TG
I | 12xy 3x dxy
2 15ab C =3 Sab
3 | -20xy ~2xy 10
4 |40xy? -2y ~20
5 |-27abg 9¢ ~3ab
(ii) 15ab =-3x5xaxbh
: M UEEYE = Sab
~20xy
maw 0 - - =l[}
(iii) W9 TEEE Y
_ 2.2
(iv) W s = 0X Y | 5,22
_ 20
=2Tabc
B = 9 o
(v) ¥ UEES . &
U 3.
fafRId &1 urHaUs A1d Pifore-

(a) 12x2 — 15y — 24x°%z>

(b) -6a2 + 36a — 24ab
(c)3a®+ab +9a+ 3b
(d)6ab—4b + 6 —9a

(e) ab® + a*b + ac + be

(f) a®bc + b*ca+c2ab+a+b+c
(g a(b—c)+d(c-hb)

(h) 3y(y + 3) + 6y(3y +9)
(i)ad-3a®>+a-—-3

() ab®> —bc? —ab + ¢

(k) xy(a® + b?) + ab (x® + y?)
3R

(a) 12x2 — 15y — 24x°z>
=3X2X2XXXX—3XEXYXY—2X2X2X3XXXXXZXZ
= 3(4x* — 5y* — 8x%z%)

(b) -6a2 + 36a — 24ab
=-2x3xaxa+2x2x3x3xa—2x2x2x3xaxb
=-6a(a— 6+ 4b)

(c)3a2+ab +9a+3b
=a(3a+b)+3(3a+Db)
=(3a+b)(a+Db)
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(d)6ab—4b + 6 —9a
=2b(3a-2)-3(3a-2)
=(3a—-2)(2b-3)

(e) ab2 + a%b + ac + be
=ab(+a)+c(b+a)
=(b+a)(ab+c)

(f) a%bc + b%ca+c2ab+a+b +c
=abc(a+b+c)+1(a+b+c)
=(a+b+c)(abc+1)

(galb-c)+d(c—b)
=ab—-ac+dc—-db
=a(b-c)—-b(b-10¢)
=(a-b)(b-c)

(G) ab®> —bc? —ab + ¢
=b(ab — ¢?) — 1(ab — ¢?)
=(ab-c*)(b-1)

(h) xy(a® + b?) + ab (x> + y*)
= xya? + xyb? + abx® + aby?
= ay(ax + by) + bx(ax + by)
= (ay + bx) (ax + by)

Bihar Board Class 8 Maths T[UIH&ES Ex 14.2

U 1.

FEfRId S| &1 UFES JTd BifoT-
()1 +2x +x2

(b) a®b? — 6abc + 9c?
(c)1-(a-Db)?
(d16(a-b)>-9(a+b)
(e)x+y)*—10(x+y)+25
(f) (a+b)*—4ab

(8) 4x* —y*+ 4y — 4

(h) 9x* — n24
(a*+a+4+3a
Hx*+6x+8

(k) y* - 13y + 30
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D x2+9x—22
3R

(@) 1+ 2x + x>
=1+X+X+Xx>
=11+x) +x(1+x)
=(1+x)(1+x)

(b) a*b? — 6abc + 9c?
= a*b® — 3abc — 3abc + 9¢
= ab(ab — 3¢) — 3c(ab — 3¢)
= (ab — 3c) (ab — 3¢)

()1-(a-b)?
=1-—(a®-2ab -b?
=1-—a%+ 2ab + b?
=(1—a-b)x+a-b)

(d)16(a—Db)*>—9(a+Db)?

= 16(a% — 2ab + b?) — 9 (a® + 2ab + b?)
= 16a® — 32ab + 16b? — 9a® — 18ab — gb?
=7a® + 7b* — 50ab

=7a2 — 50ab + 7b?

= 7a® — ab — 49ab + 7b?

=a(7a—b) —7b (7a —b)

= (7a —b)(a - 7b)

(&) x+y)?—10(x+y)+25
=(x+y)?-5(x+y)-5x+y) +25
=(x+y)[x+y)-5]-5[x+y)-5]
=(x+y-5)x+y-5)

(f) (a + b)* — 4ab
=a® + 2ab + b® — 4ab
= a2 —2ab + b?
=a%>—ab-ab +b?
=a(a—b)—-b(a—b)
=(a-b)(a-b)

D x*+9gx—22
=x2 + 11X — 2X — 22
=x(x+11) — 2(x + 11)
=(x+11)(x-2)
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U4 2.

fafaRad TS®! &1 UF¥Us HifoTe-
(a) x> - 6x —135

(b) 8(x +y)3 - 50(x +y)

(c) 4x> + 9y® + 12xy — 1

(d) 75 — x% + 10x

(e) 12a%2 — 27
(f) ax® — bx* + by® — ay®
3R

(a) x2 + 6x — 135

=X - 15X + 9x — 135
=x(x-15)+9 (x—15)
=(x-15) (x+09)

(b) 8(x +y)3 - 50(x +y)
=2(x+Yy)(2x+2y—-5) (2x + 2y + 5)
=2(x+y)(2x+2y—-5) (2x + 2y + 5)

(c) 4x* + 9y* + 12xy — 1

= (2x)% + (3y)* + 2(2x) (3y) — 1
=(2x + 3y)*>—12
=(2x+3y+1)(2x+3y—1)

(d) 75 — x% + 10x
=-x% + 10X + 75
=-x>+ 15X — 5X + 75
=X (x-15)-5(x—-15)
=(x-15) (x-5)

(e) 12a%2 — 27
=3(4a*>-9)

= 3 [(2a)* - 32]
=3(2a-3)(2a+3)

(f) ax® — bx? + by? — ay?
=x*>(a-b)+y*(b-a)
= (x*-y?) (a-Db)

=(x+y)(x-y)(a-b)

U4 3.

fAafeiRad isten| &1 U S PHifoe-
(a) 16x4 — 81y

(b)x* -1
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() x* - (x—y)*

(d) 9x* - 4y* — 3x + 2y

(@) (x+y) +4 (x+y)*+4x+4y

3R

(a) 16x* — 81y*

= ((2x)*)* - ((3y)*)?

= (2x + 3y)* — (2x — 3y)?

= (4x2 + 12xy + 9y?) (4x — 12Xy + 9y?)
= (2x — 3y) (2x + 3y) (4x2 + 9y2)

(b) x4 -1
= (x2)2 — (12)2
=(x*>+1)(x2-1)

=(x-1)(x+1)(x2+1)

(0) x*(x—y)*

= (x*)? - (x-y)??
=(x*-x-y)(x*—2xy +y
=y(2x —y) (2x* — 2xy +y?)

2)2

(d) 3x* — 4y — 3x + 2y

=(3x)% = (2y)* = 3x + 2y

= (3x + 2y) (3x — 2y) — (3x + 2y)
=(3x+2y) (3x+2y—-1)

(e) (x+y)3 +4(x+y) +4x + 4y

= x3 + 3X%y + 3Xy” + ¥ + 4 (X% + 2Xy + y?) + 4X + 4y
= x3 + 3X%y + 3Xy> + y* + 4%X> + 8Xy + 4y° + 4X + 4y
=x+y)(x+y+z)(x+y+2)

Bihar Board Class 8 Maths T[UFES Ex 14.3

U4 1.

FafiRad &1 Ur Piforg

(a) -2x2yz DI 4xyz |

(b) —12 PTx2 I

() (3x?)5 BT (9x2)3 9

(d) (7%%)2 x (3y%)5 BT 27y3 &
(€) 8x5y0 BT -4x4y5 I

3R
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(@) -2x2yz + dxyz

—2XXXXKYRX 3
O 2x2xxxyxz : O T
1 x
(b) -21}'-5
-ixxxy ——l-x.rxy
or, 2 Lo, 2 x2
i X
2
or, ¥
(€) (3x%)° + (9x%)°
(3x%) (3x2)
G2y % @3x)’
3x2 Ixxxx .
[r'! ey * -
Ix e Ixx

d) (75?2 x (3% + 27)3

49x'0 x 243y%°
27 y3

o,

LY

Tx7xx'0x3x3x3x3x3xy° x y22
3Ix3Ix3xy’

or, 49x10 x 9y22
or, 441 x'P yn
(e) Bxfyb - — 4x4y0

2XIXIK XX XX IX XK XX YXPX YK YXYXYX Y

o “2XIXAX AKX AKX YA YXYXYX VXY
or, —2x?

U 2.

fau 7T SgUT &1 THUd § URT HifoTe-

(a) (5m3 — 30m?) + 5m
(b) (12x% — 6x3) + (-3x3)
(c) (5x* — 15%) + (x — 3)
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(d) (6x* + 9x3 — 12x?) + 3x°

U 3.

(a)(@2+8a+16)+(a+4)

(b) {(a + b)?2 — g4ab} + (a—b)?

(c) (a* = b1 + (a2 — ab)
(dx*-81) +(x*>+9)

(e) 121x% + 16y* — 88xy + 4y — 11X
(f) x*-x-30) + (x—6)

(g (P*-p+14) + (p-12)

(h) (x* - 5xy + 6y°) + (x — 2y)

(1) (27x3 +3x2—2x+ 8) + (3x — 2)
IR

(a) (5m? - 30m?2) =~ Sm

S¥xmxmxm-5x6xmx6
Sm

ar,

or, m? - 6m

(by (12x* - 6x?) + (-3x%)

3;:4::(3:2 % x? —3IR2Xx°
—3x2

or,

3.1:1 by 4.r3 - 312 x 2
or, —
—3x-

or, —4xt+2

() (5x2=15x)+(x=3)
Sxxxx=-5x3xx
x=3
or, 5x-35

or, S(x—1)
(d) (6x* + 953 - 12x2) + 3.2

Ix2xx xxt +3x3Ixxt Xr—3x4Xx
3x?

of,

2

O,

312 %2x% +3x% x3x-3x% x4
312

or,

or, 2x%+3x—4
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(a)(a’+Ba+ 16) = (a+4)

a’ +8a+16 o a’ +4a+4a+16
a+4d ! a+4
ala+4)+4a+4) (e +4)a+4)
l‘.l'.,. (‘-'r
a+4 a+4
or, a+4
(b) [(a+b)?-4ab]+ (a-b)*
(a+b)? —4ab
% {H-b}lz
(** (a—b) = (a + b)* - dab)
(a-b)° t
(a-b)? ~

() (a*-b*+a’-ab
or,
at -ab a’ —ab

{ﬂz +IJ|3}-~[1'12 -bl}
a’ -ab

a® +2ab+b* -(a® -2ab-b*)

o, 5,
as —ap
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a% +2ab+b% —a® -2ab - b*

flz —ab

4ab+2b>  3ab+2b*
ﬂz-nb at
() (*-81)+x2+9

o,

of, 2 L 2
xX°+9 x°+9
2 2
+9)(x° -9
A C ) TN

x*+9
(€ 121x%+ 16y% - 88xy =4y llx
or, 121x%— 88xy + 16y2

(110)% =2 x11x x4y +(4y)°

% 4y—1lx
(11x-4y)
O 4y—llx
(1ix—4y)l1x—4y)
or, 4 2 =|lx—4y

4y-1lx

N x2-x-30+x-06

x2 —6x+5x-30
x-06

o, X2-x-30+x-6 o

x(x —6)+5(x—06) S (x-6)(x+5) .
x=0 x=0

1
2_ —_— i -
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or, 1 or, 1
. s
P 2 2
A
or, p 2
(k) xl—ﬁxy+ﬁy2-:-x—2y
x* —5xy +«|E|_1r2 x% ~3xy- Ex_{f;lﬂi
or, G O . Y
x-2y . x=2y

XA =3y)-2y(x-3y)
x=2y

or,

(x=2y)x=3y)
x=2y
(i) 27 +3x2-2x+8)+(3x-2)

or, =x-—3y

(3x) +3x% —2x+8 27x3 +3x2 - 2x+8
Qr, or,
3x-2 . Ix-2

(3x-2)9x> +Tx -5

or, 9%+ 7x-5
3v-2
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